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“What do you call a donkey with a defect?”

Solve each system. The answer to each problem will match a letter that will allow

you to figure out the joke.

1. X+2y=5
y=3x-1

3. 2x+4y=10

2. 3x-3y=17
2X +3Yy=3

4, 3x+5y=-10

x—g=—7 2X—3U=6
5. TX-y=6 s mily
2X +qy =11 3
1. 1
—X+—y = 3
2 y 39
7. 5X+y =:l_
3 2
_5_ X - != y
2 3
S i T A E
“rq9 3\ | (L -T (4, 3) (-3, 4)
(5,2) (2,5> (z, . |
A u L P H
7 5 6 3 y 2 1
Joke #21

solving linear systems of equations
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“Solve the following systems. The answer to each problem
H will match a letter that will allow you to figure out the joke.

1. y=x M: (2,6), (52
H y=x S: (z1, 0)
2. % +y =24 0: (xVZ, 0), (0, -2)
VP = 2%
A: (1,1), (-2, -2)
3 2 2 — 2
X 4yt =20 M: (0, 0), (1, 1), (-1, -1)
X—y=2
I (1, £4) ‘
4, 3x2 + Dy* = O2
& ryP =10 O: (+2V2, £4) H
G: (£2, 0)
5. 2% +y*=4 |
y=x—2 | T: (4,2), (2,06)
6. (x+ 12+ (y—4)2=13 D: (=16, +4) |
y = 3% W: (O, £5) ﬁ
2 2 M: (4, 2), (-2, -4
7. 2 L= (4.2). ( )
4 1o
V: (O, 0)
X +yr=4
2] 1 3 7 5 2 4 ‘
/ Answer: H
- \io!ving Systems: tough ones | ‘ Joke #40
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«“What do you get when you cross an elephant with a
dairy cow?”

solve each system of equations. Cross out the letter that matches with your answer.
The remaining letters will allow you to figure out the joke.

(£2iv2, -3) (iV3, 2)
(:EZ, "") (:I:3, "5)

=g

2. X*+y'=30 (3, 4) (-4, -3)

v=x (0, %) (5, 5)

3. X*+y'=25 (0, -2) (7, 5)

y-x-=1 (4, 4) (-5, -5)

4. 4x+ 16" = 64 (0, 0) (1, 1)
X*+yY*=16 (£3, +4)
5 Xey=l (2, £V/5)
Yy=x'+5 (4, 3) (0, 0)
6 l(j+_g_2=l (-q, 0) (q: o)
5 25 (10, 16) (23, 9)
X*+y' =19
(t'\/g) 5) (ti\/z’ _6)
T. (x=2F+(y+3y=6r (-5, 6) (-7, 9)

y=2X

- P P S v M P =T P T IAD

12 24
(5, : (-4, -8)

o

x2+(y-5)=u4
y-x=-2 R: (0, 0)
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Solving systems of two equations #1 5 - Joke #30
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“What do you get when you Cross the dtlantic Ocean with
the Titanic?”

solve each system. The answer to each problem will match a {etter that will allow
you to figure out the joke.

1. 5xy+13y"-37=0 A (2, 1)
xy - 3y*=-15

2. U4x?+ 8XY = 40 F: /e, -2/3) (-5/s, %/3)
I* -Xy=2

3. X*+y=26 W: (&5, £iv2)
2% + 2y = U

y, 2% - UX*+ 2y +6y—8=0 A 2/ 2) 0/ -2)
X-2+y-y=0 |
x2

(3, -1) (1, 3)

log=y =2
logx (4y) = 4

y: (2,1

W2, 2v2) (-V2, -2//2)

Solving systems of two equations #2 Joke #31
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